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I Leamingisamorcorless — _ modification of bchaviour. :
(A) Tem anent f
3 1}. E)O?r{ }B) Perm 1
2. Whichof the following laws nceessitates creation of motivationin children before taking up
leaming task ?
(A) Law ofreadincss () Lawofusc
(C) Lawofdisuse (D) Law of cffect

3. Theconcept ‘zonc of proximal development’ occursin the lcarning theoryof

(A) Piaget | (B) Vygotsky
(C) Kohler (D) Thomdike
4.  Which of the following psychologists advocated the idea of ‘congruence between real self
and ideal self ?
) Levvygotsky 5 e (B) Abraham Maslow
(C) JeanPiaget AD) CarlRogers

5.  Which of the following statements is true ?
(A) Leamingand maturation are unrelated
(B) Learningbrings about maturation
AC) Maturation creates favourable conditions for further learning
(D) Maturation is aresult of leaming
6. Theapproach to instruction thatis the most beneficial and positive for alllearnersis:
(A) Teacher:centric AB) Leamer:centric
(C) Subject:centric (D) Knowledge:centric
7.  Variety in content delivery formats in class room leads to :

(A) Promotion of hard work by learners B) Confusion among leamers
(?)‘ Promonon ofmjifonnleanﬁng ,(D) Better leal'n'mgby diverse leamers

1.G.T.(PCM) (Code : PC) 5
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XK)  Clear leaming objectives

(B) Varied instructional Stratcgies

(C) Uniform instruction for gl students

(D) Continuous assessment and feedback

Whatis the role of scaffolding in organizing lcaming 9

(A) To simplify complex topics

(B) Tochallenge students withdifficult tasks

;E) To provide Support to students while leaming new skills

(D) To prevent students from making mistakeg

Ifachild loves reading story books often, itis a case of motivation.
(A) Intrinsic @) Extinsic

(C) Bothoftheabove (D) None ofthe above |
Which of the following ig NOTa characteristic of selflearning?
/(A) Following teacher recommended pace (B) Setting a personalized pace

(C) Havingautonomy (D) Embracing responsibility
Which of the following is NOT a common group leaming activity?

(A) Groupdiscussion (B) Peerteaching
XC) Individualized instruction (D) Collaborative projects
Which of the following is NOT a TLM ?

(A) Computer (B) Timelinechart
£C) Teacher (D) Textbook

How is evaluation viewed in a constructive perspective ?

(A) Asatool for judgement

(B) Asameans ofranking students
€€y Asaprocessof providing feedback and fostering growth

(D) Asaway to reinforce traditional teaching methods

3 P.T.O.
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(X) Participant observation B)

Formativg o :
tive evaluation takes place:

(A Attheeng ofinstruction (B) Duringinstruction

(©) Before inshuctionbcgius (D) Longafter completion ofinstruction

What is the ma;
m i
AN goal of *nssessment as leaming' ?

(A) Toassign grades to students

) Tosupport students® ongoing leaming and development

(C) Tomeasure students’ memory

(D) To create competition among studcents

When observation of activities of a group is made by a member of the same group being
observed, itis called :

Controlled observation

(C) Overtobservation (D) Incidental observation

The ‘blueprint’ of a test is prepared at stage of the test construction.

(AJ Planning (B) Preparing

(©) Tryingout (D) Evaluation

Which of the following is a difference between teacher:made test and standardized test ?
4X) Preparation of blueprint

(B) Inclusion of objective type testitems

(C) Fixation ofnorms

(D) Provision for negative marking for wrong answers

What is the primary purpose of using assignment as an assessment tool ?

(A" Toevaluate students’ understanding and application of course material

(B) Toreduceworkload of teachers |

(C) Toteststudents’ memory

(D) Tokeepstudents engaged in study related activities

4 Conld.
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Which of the following is NOT a consideration jn the construction of an achicvement test ?

(A) Weightage assignment to different forms oftest itemns |
(B) Objectives of the test

@/ Content of leaming

(D) Socio:economic condition of the examinces

What is the purpose of self:assessment ?

(A) Toreplace traditional assessment techniques

(B) Toassess theleaming achievement of classmate friends

(€) Toenablestudents to reflect on their own leaming and progress

(D) To lessen the burden of teachers’ assessment work

Which of the following suggests that the test items should cover a representative sample of
the content being assessed ?

(A) Reliability ” @f  Validity

(C) Objectivity (D) Usability
Which of the following guides construction of test items ? |
(A) Ability of the students

ABJ Quality of teaching in a school
(C) Testitems available in the textbooks for practice by students
(D) Objectives of instruction |
Which of the following is true for a particle undergoing uniform circular motion?
(A) The magnitude of the centripetal forcé is im;lependent of the speed of the particle.
(B)  Thedirection of the acceleration of the particle is always perpendicular to the direction

of velocity.
(C)  Themagnitude of the acceleration of the particle is inversely proportional to its speed,

(ff) The net force on the particle is zero.

(PCM) (Code : pc) 5 —
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According to Kepler's laws of planctary motion,

the plancts of the solar system revolve
round the sun in elliptical orbis, The speed of a pla

netin its orbit has :
(A) the Maximum value whenjtis farthest from the sun.

®)

(©)  theminimum valye when its distance from the sun is cqual to the semimajor axis of the
clliptical orbit,

aconstant value gt o) Points of the orbit.

(D) themaximum valye when it s closest to the sun

From Hooke’s law of clasticity we can conclude that for a homogeneous isotropic material,
(A)  strainis directly proportional to g(reg within elastic limit.

(®B) Young'smodulusis directly proportional (o stress within elastic limit.

(C) Young'smodulusisinversely Proportional to stress within elastic limit.

(D)  strainis independent of stress within elastic lim;t

The sound wave produced by -transversé vibration of a stretched string is :

(A) atransverse wave

(B) alongitudinal wave

4€)  asuperposition of transverse and longitudinal waves

(D) awave which cannot propagate in air.

Which of the following optical devices can produce areal image of areal object ?

(A) _Convex mirror (B) Planemirror

Concave mirror (D) Concavelens

Anelectricdipole is enclosed within a spherical region. The total electric flux over the surface
ofthe sphereis:

(A)  proportional to the square of the radius of the sphere
(B)  proportional to the radius of the sphere

(C) proportional to the square root of the radius of the spﬁel‘e
(D) zero

6 Contd.
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A transformer converts :
(A) aDCvoltagctoan AC voltage

(B')/u" ACvoltagetoan AC voltage of higher or lower value
(¢) aDCvollagetoaDC voltage of higher or lower value

) anACvoltageto a DC voltage of higher or lower value

A I_JOiﬂt particle having electric charge @ movesina region where a uniform magnetic field
exists. The force on the ch arged particle s -

(A) zero
(B) alongthedirection of the magnetic ficld

4€) perpendicularto the direction of the magnetic field
(D) opposite to the direction of the magnetic ficld

Aparticle Pis thrown up vertically. After some time another particle Q is thrown up vertically.
Ata given instant of time, P falls down and Q still riges up. Which of the following is true at
that instant ? ,

(A) Theparticle Phas downward acceleration and Q has upward acceleration
(B) Both P and Q have upward acceleration

(©) Both P and Q have downward acceleration

(D) Both P and Q have zero acceleration

The escape velocity on earth is :

(A) directly proportional to the mass of the earth

(B) directly proportional to the square root of the mass of the earth
(C) directly proportional to the cube of the radius of the earth

(D) independent of the mass of the earth |
Onemole of an ideal gas undergoes a process in which its pressure remains constant. Which

of the following is true for the gas ?
(A) Theproduct of the pressure and volume always remain constant irrespectiire of the

temperature :
(B) Theratio of the temperature to volume remains constant
(C) Theproduct of the volume and temperature remains constant

(D) The product of pressure, volume and temperature remains constant

T.G.T.(PCM) (Code : PC) 7 RURE % X
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A SOUrce produces sound waves ofa definite frequency and a listener, located at a distance,

hears the sound. The frequency of sound heard by the listener will be more than the frequency
of sound produceq

Y the source if :

(A{ the source moyes towards the listener

(B) the source moyeg away from the listener

(C) thelistener moves away from the source.

(D) boththe source and the listeney move away from each other

Total internal reflection can occur whep, light, travelling ina transpa.rcnt medium, is incidenton:
(A) another transparent medium of h; gher refractive index

(B) another transparent medium of lower refractive index

(C) the surface ofa convex mirror

(D) thesurface of a concave mirror :

The magnitudes of the electrostatic field and the electrostatic potential at a given point, due to

a point charge, are E and V respectively. If the distance between the charge and the point

of observation is doubled, the magnitudes of the electrostatic field and the electrostatic potential
at the point of observation become respectively :

K E V
(A) 2E, 4V B) 33
© —EJ,K ® 2E.VI\2
2

Kilowatt-hour is an unit of ;

(A) electric potential difference '
(B) electrical energy

(C) electric power | |

(D) average power Consumptioﬁ by an electric device

The STunit of mutual inductance js -

(A) weber B) hertz '

(C) tesla DY " heary

8. Contd¢ .
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Which of the following is true for a particle Cxecuting simple harmonic motion?

(A) Itskincticenergy is the maximum at the cquilibrium position

(B) Iiskinctic energy is the minimum at the equilibrium position

(C) Itspotential energy is the maximum at (he cquilibrium position

(©) Themagnitude of the restoring foree on the particle is the maximum at the equilibrium
position

Asolid homogencous sphere floats in water wiyy, two thirds of it's volume submerged- he

specific gravity of the material of the solid is ;

Aa) 173 ®) 3/4
©) 213 . D) 35
At normal temperature and pressure, the speed of sound ina gas:
(A) isindependentofits density
(B) isdirectly proportional to its density
(C) isinversely proportional to its density
(D) isinversely proportional to the square root of its density
The image of an object formed onthe retina of the human eye is :
(A) virtual, erect and diminished
B) " real, erectand diminished ..
(C) real,inverted and diminished
(D) virtual, inverted and diminished
The capacitance of a parallel plate capacitor :

(A) isindependent of the area of the plate

(B) isdirectly proportional to the separation between the plates
(C) isinversely proportional to the area of the plate

(D)  isinversely proportional to the separation between the plates

T.GT.(PCM) (Code : PC) 9 | PTO.
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A Su'a].g_ht (V) . i
nducting vipe of uniform cross section is doubled on itself; Its electrical resistance :
(A) is doubleq

@) is reduced 1o hal['nfils initial value

(©) isreducedyo one fourth ofjg initial value

A

AD)  remains unchangeq

Inan AC circuit contgin : i
ONtaining a resistor and o capacitor, the reactance of the capacitor :
A) dependsontl :
(A)  depe "¢ value of the capacitance byt is independent of the frequency of the AC
(B) isinversely Proportional (g (he frequency of the AC
(C) isdirectly proportional to the frequency of the AC
(D) isdirectly proportional to the square root of the frequency of the AC

A particle, starting from rest, moves along a straight line with constant acceleration. A graph
is plotted with time along the X-axis and the speed of the particle along the Y-axis. The area
under the speed versus time graph, up to a given instant of time, gives :

(A) thetotal work done by the Particle during the time interval

(B) the final speed attained by the particle at the giveninstant of time
(C) theacceleration of the particle at the instant of time

(D) thetotal digtance travelled by the particle up to the instant of time

Anideal fluid flows at a constant rate through a tube of uniform cross section, when its ends
are maintained at a constant pressure difference. Suppose the internal radius of the tube is
reduced to half of its value. In order to keep the rate of flow of the fluid unchanged, the

pressure difference between the ends of the pipe hastobe :
(A) increased two times (B)  increased four times

(©)  increased eight timeg * (D) increased sixteen times

TGT.(PcM . '
(PCM) (Code : PC) 10 - Contd.
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Onc molc of oxygen gas at NTP ;s equal to ;

;A')/ 6.023x10% molccules of oxypen

B) 6.023x10* atoms of oxygen

(C) 16 gm of oxygen

(D) 8 gm of oxygen

Nitrogen has the electronic con_figuration of 152242 2 Pl 3 p}, 2 p; as per :
(A) Pauli’s exclusion principle ®B)  Aufbay principle

(C) Hund’s rule of multiplicity D) Uncertainty principle

52. The angular momentum of an electron is zero. In which orbital may it be present?

33.

54.

35

56.

) 96 2s ®) 2
© 3d @) 47
Among the halogens, the correct order of electron gain enthalpy is :
(A) F>CI>Br>1 B) F<Cl<Br<I
(C) F<CI>Br>1 M) F<CLBr>I

The electronic configuration of elements A, B, C are given below :
A= 15*2522p%, B = 15%25%2p53%3°, C = 1522522 p%3s23 p°

The bond between B and C will be

AXK)  lonic (B) Covalent
(C) Co-ordinate covalent D) | Metallic
Which of the following molecules is linear?
(A) co, @By CCl,
© Hp . ©) NH,

Which of the following properties of water can be used to explain the spherica] shape of
rain droplets? '

(A) Viscosity B) Surface tension

(© Fugacity - (D) Fluidity

T.G.T.(PCM) (Code : PC) 11 ' - TPTO
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Real gases behave ideally g -

(A) low pressure and high temperature
(B)  high pressure and high temperature
(07 low pressure and low temperature

(D) high pressure and low temperature
Which of the following is Not a redox reaction?
(A) CuO+H, - Cu+H,g

®B) Fe,0; + 3CO » 2Fe + F:;CC)2

(€ 2K +F, - 2KF

(D) BaCl, + H,SO, —» BaSO, + 2H(]

For the reaction N,(g) + 3H,(g) <= 2NH; + 21K Cal formation ammonia is favoured by:
(A) high pressure and low temperature

(B) low pressure and high temperature

(C) low temperature only

(D) low pressure bnly .

For the reaction H,(g) + Ii(g) = 2HI(g)

A Kp = K¢ B) Kp <K

© Kp>Kc | ® K=
~ The pH of a 0.001M NaOH solution_is :

@) 3 . ® 1

© 7 | @) 14

The impurities associated with an ore after mining is called :
| (A) Fhx B)' Slag

©) Gangue (D) Minerals

Which one of the following acts as a reducing agent in blast furnace in extraction of ron?
@ c | ® Co | |

: O sio,

1
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The ITUPAC name of the Compound :

206

| o!
(A)  2,3-dimethyl pentanoyl chloride
B) 2,4-dimethyl pentanoy chloride
()Y 1-chloro-1 ~0X0-2,3-dimethyl pentane
D) 2-cthyl—3-mclhylbulmwyl chloride
Consider the following carbocations ;

() CLC (i) CLCH (i cil, Gv) u,
The order of stability of the cations is K
() (iv) < () < (i) < iii) B) ) < (i) < (1iz) < @iv)
(©)  @v) < () <(Gii) < (ii) D) (iv) < (i < Gy < iii)
Which of the following species is not an electrophile?
@ c® ®) BH, -

e .
© H0 ®)  No,
Which of the followigg is a substitution reaction?
@ NHCNO L Npcony,

® OH + CHCl; —— ¢&cy, + H,0 + &
© CH+cl, —s CH,CI + HCl

(D) Cis-2-butene ‘_f-——-—_'_’—__-—\_ trans-2-butene

CHs-CH-CH,CH, _2leKOH _, o, 2z,
Br

(A) CH,CHO - (® CcH,cocH,
© CHs—CH=CH2 D) CH,

T.GT.(PCM) (Code : pc, 13
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Which of the following Will decolourise alkaline KMnO,?
(A CyH, @) C,H,

(©) cn, ®) CCl,

Which of the following is not an aromatic species?

w O ® (]
(©) Eﬁj cD)Q

Na
H—Br ——— :
CoHs d Dry Ether C4Hm

The above reaction is called :

(A) Waurtz reaction (B)  Fittig reaction

(C) Wurtz-Fitting reaction (D) Williamson’s synthesis
The product ‘A’ in the reaction

@ + CH;~CH,~CH,-Cl —280-A1Ch, 5

is:

» CH; CH,
CH,-CH,—CHj cn”

» Q) % ()
CH;, -~ CH;-CHs

© D

GET IT ON
Google Play

Ametallic carbide on treatment with water gives a colourless gas with garlic odour. The
8as formed giyes precipitate with ammoniacal AgNO, solution. The gas formed is :

(A -
) CH, ®) CpH,

@ cy
S D) C.Hq

’ T-G.T-‘PCM) (code . PC\
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: 00 students opted for Mnlhcmallcs, 70 students for
thf:,:}s’ :;) sﬁtludcnt.s for Chemistry, 30 studcnts for both Mathematics and Physics, 28 students
r both Mathematics and Chcmlsu-y 23 students for both Physics and Chemistry, 18 students .

for Mathematics, Physics and Ch
Mathematics only ? cmistry. Then how many students in the class opted for

() 160 (B) 48

© 38 D) 26
Forthe sets P, Qand R, consider the following :

(1) P-Q=P-(PN Q).
@ P=(PN QAU P-Q.
@) P-(QUR=(P-QU (P-R).

Choose the correct option.
(49" Only (2)is true. B) Only(1)and (2)are true.
(©) Only (1) and (3) are true. D) (1),(2)and (3)are true.

On the set X'= {1,2,3}, what is the number of relations containing (1,2) and (1,3), which are
reflexive and symmetric, but not transitive ?

A 5 ®) 3
© 2 O 1

LetP=[-1,1]=Qand S = [0, ). Consider the following relations :

(1) TherelationR, ={(x,y) € P>‘=Q.‘x2 +y’ =1} isa function from P into Q.
(2) TherelationR,={(x,y) € PxS:x’ +y’ =1} isafunctionfrom Pinto S.
Pick out the correct option.

!

(A) Only(1)istrue. (B) Only(2)istrue.
(O Both(1)and (2)are true. (D) Both(1)and(2)are false.
441

. ingi number ———— 7 .
Which one of the following is true for the 22 53 %7

(A) Ithasaterminating decimal expansion.

(B) Ithasanon-wminaﬁng,non-repmtingdechnal expansion.

© Ithasamn-te;minaﬁng,hﬂrepwingdecimalexpansion.

D) IthasaterminaﬁngdecﬁnalexpMOB after two places of decimal.

15 PT.O
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Which one of the following is the solution set of the incquality [2x+31> 57
@A) o ,-4) : ® (1)
© (~0,~4) U (1,) ®) ®-HU 4,2) .
. W
(IJfI;? ,fﬁ. iy ?flhc equation; ax? + bx +c=0and pn= "+ (0 € N),thea
of the following is the valucof ap,_, +bp,+cp,_,?
A o ® |
(C) é+b+c (D) .—(a+b+c) .
If the pair Df_ linear equations : ax+by+c =0andax+by+c,= 0 (al,lif,, €80y :,;n Y
real numbers and a,,b,,.b, are non-zero real numbers) represent parallel lincs, fucs
one of the following is true ?
al bl a b| CI
—L L : H_2x2
(A) a, bZ : 2 (B) a, bl ¢
G5 G .o
© a, b D) a b o
(D + (x+2)" "+ (x+100)"° . ,
il—;}; 100 isequalto:
4,6 1 ® 10
©) 10? ®) 107
: G b, b#0,x<1
: = is continuous
If the function fdefined on R by f(x) bt | e,
and differentiable at x = 1, then which one of the following is true ?
(A) a=2b,c=0 B) a=bceR
(C) a=b,c=0 D) 2a=b,c#0
For the function £(x) = (x + 2) e (x € R ), which one of the following is true ?
(A) fdecreases forallx eR. . . '
(B) fdecreasesin (— ®,—1) and increasesin (-1,%).
(C). fincreasesforallx eR. _
(D) * fincreases in (- c0,—1) and decreases in (—1, ). )
Let the sum of three numbers in Geometric Progression be 14.If 1 is added to the first and

Second number and 1 js subtracted from the third number, then the new numbers are in

Arithmetic Progression. The smallest of these numbers is :
A) 2 : B) 4

16

15
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297

The sum of the series |+_2_£+l’fi+£_+ - Ko
, 121 3
A) e* :
© e o
f:;isnat g segmentjoining the points (22,1) and 5.1,-2). Ifx-coordinate of he
@ ®) o0
& 1 ®) 2
Ifthe plane x +2y - z=4 cuts the sphere x’+ ) + 2 _ x + z— 2 = 0 in a circle, then the
radius of the circle is :
@ 3 | ® 2
© 2 | - O 1
H‘f ﬂ;:, area of a triangle with vertices (- 3,0), (3,0) and (0, k) is 9 sq. units, then the value
of kis:
@A 2 ® 3
© -5 | ® -4
In what ratio is the line segment joining the points (- 6,15) and (3,5) is divided by the y-axis
internally ? . _ :
A) 2:3 B 3:2
€ 2:1 O 1:2
If a circle touches the x-axis and also touches the circle with center (0,3) and radius 2, then
the locus of the center of the circleis : _
(A) ahyperbola (B) aparabola
(C) anellipse . (D) acircle
Consider the following relations for two events Eand F :
(1) Prob (E N F) > Prob (E) + Prob (F) -1.
(2) Prob(E U F)=Prob (E) + Prob (F) + Prob (E N F).
() Prob(E U F) < Prob (E) +Prob (F)
Which of the above relation(s) is/are correct ?
(A) (1only . A8) (only
(© (1)and(3)only ‘ @) (1),(2)and(3)
In an experiment, positive and negative values are equally likely to occur. The probability of

obtaining at most one negative value in 5 trials is :

. 1 i
@ 33 ® 1

3 | 3
©. 3 O i

T.G.T.(PCM) (Code : PC) _ . PTG
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95,

96.

97.

98.

99.

100.

“.’hat i$ the variance of the firgy 10 natural numbers 7

A 7 B) 7.25
PORE ‘®) 825

{fthe Mean and the Mode of a data sample are 35 and 30, then its Median ask
@A) 19 ®) 26

$ 3333 | ©) 75

. . |
When the length of the shadow ofatreeis /3 times the height of the tree, what is the angle
ofelevationoftheSun?

(A) 30° ®) 45°
(€) 60° D) 90°
If 0 < 6 <2z, the solution of the trigonometry equation: sin () + cos (8) = J2 is:

4] B
® ® =
3n _ Tn
© Y @) 7T

The lateral surface area of a cone is 1% times larger than its base area. If the height of the

cone is 7 cm, then the surface area of the cone is :

(A) 135ncm? ®B)
© 1927cm? D) 147 ncm?

A horse is gfazing in a field. It is tied to a pole with a rope of length 6 metres. The horse

138 n cm?

+ Moves from a point P to a point Q making an arch with an angle of 70° . The area of the

Sector grazed by the horse is :
(A) 20.99 $q. metres. B) 21.99 $q. metreg,

(C) 2299 $q. metres. - (D) 23.99 5q. metreg
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